BHEOMAER
THSEE

BENMIEE/NMLEERXMAREXE

XEY GERE. OEBAERERLUNOEDEMNESLHEANH SO, FU 00— FET>EAREEAET
SIRFAICRSTDEL. HERECHLLY TE=ZB~DRMITAE] ZT0LTL,




WIER BE/IMASENMASE XA

% # s - BRHE s ¥ 8 i & & =
BRI 6,287,520 + 182,260 6, 469, 780
EEAGHE 6, 287, 520
EERE 182, 260
Z Ot [ 1 6,287,520 x 53.85% ( 35% =+ (1 — 35%) ) 3,385,829
KB RE 6,469,780 + 3,385,829 9, 855, 609
—REEERE 9,855,609 x 53.85% ( 35% + (1 — 35%) ) — 2, 854 5,304, 391
EX T 9,855,609 + 5,304, 391 15, 160, 000
HETEELE 15,160,000 x 10.00% 1,516, 000
¥BERAH 15,160,000 + 1,516, 000 16, 676, 000




BEARRE BB A B A SR ER 5t

% [ BE - BT B B B T # wm B
E#E R 6, 469, 780
BRETE 6, 469, 780
MERER AT 6, 469, 780
HARER T 6, 287, 520
ERETETE 148, 500
ERETEtE 1.00 148, 500 148, 500
=
BREHRDEE 248,170
2 ERARA 1.00 248,170 248,170
=
BREEtHE 2,370, 350
3 EEMEE (BRBERF) 1.00 1,287,100 1,287,100
247
4 BFHEFHE (ERARR) 1.00 1,083, 250 1,083, 250
247
FERTEHE 162, 700
5 FELTEHE 1.00 162, 700 162, 700
247
Rk E 199, 200
6 mEFHIHE 1.00 199, 200 199, 200
247
HEHE 183, 800




BEARRE BB A B A SR ER 5t

% # Bt - kT g % B C & # W=
1T BEEE 1.00 183, 800 183, 800
547
& E K 2,288, 750
8 HmERk 1.00 2,288, 750 2,288, 750
847

s - e 244, 050

9 ERTHE 1.00 81,350 81,350
[

10 HfE$RE 1.00 81, 350 81, 350
[

11 &RHE 1.00 81,350 81,350
[

WEEZIER 324, 600

12 SREZER 1.00 324, 600 324, 600
%

BE 117, 400

13 BE 1.00 117, 400 117, 400
e

EEZE 182, 260

EHERAME 59, 260

14 EFRRE 1.00 59, 260 59, 260
ey

AR 81,000

15 EHBHRSR 1.00 81,000 81,000
ey




BERNRE

BE/IMASENMASE XA
% [ Btk - AR B g L i i) m =
BEIREIEERE 42,000
16 BEIEHRIERERE 1.00 42,000 42,000
=




Rffik -/ \v7r—o

EE/MASE /LB B XMARERE

E55 1
£ - BEEE 124 Y
% b K - BKTiE B = B O{H %8 B =
F T EED (BRED)
A 1. 50 62, 200. 00 93, 300
AR (A)
A 1.00 55, 200. 00 55, 200
& &t Ve S - 1,00zt 148, 500. 00 148, 500
EE:2
&F: ERARR 14y
% L R - BRTiE B =1 B B 5 &
F{EHED BRED)
A 1.00 62, 200. 00 62, 200
HEm (A)
A 1.20 55, 200. 00 66, 240
A (B)
A 1.70 45, 300. 00 77,010
HEm (C)
A 1.20 35, 600. 00 42,720
& &t Ve S - 1,005 248, 170. 00 248,170
S :3
&% BEHEE (BRBESR) 19474y
% L R - BT B =1 B B 5 &=
F T HED BRED)
A 1.00 62, 200. 00 62, 200
AR (A)
A 9.00 55, 200. 00 496, 800
A (B)
A 9.00 45, 300. 00 407, 700
HEm (C)
A 9.00 35, 600. 00 320, 400
& &t EHeN 1,008 F 1,287, 100. 00 1,287, 100




Rffik -/ \v7r—o

EE/MASE /LB B XMARERE

EE 4
&% BHEE (ERARSR) 19474y
4 b LI 2 NS =-Fiv] 2 B %5 = 5 &
e TG HY
A 1.00 62, 200. 00 62, 200
A (A)
A 9.00 55, 200. 00 496, 800
BER (B)
A 4.50 45, 300. 00 203, 850
HEm (C)
A 9.00 35, 600. 00 320, 400
& it E¥8eH - 1.008 147 1,083, 250. 00 1,083, 250
E#E:5
& FEXETHE 19474y
4 b LI 2 NS =-Fiv] 2 B %5 = 5 &
e TG HY
A 1.00 62, 200. 00 62, 200
A (A)
A 1.00 55, 200. 00 55, 200
BER (B)
A 1.00 45, 300. 00 45, 300
A& i E28:H :1.008 147 162, 700. 00 162, 700
5:6
& REBHEIE 19474y
4 5 R - BRTR B 2 B %5 = 5 &
A (A)
A 1.00 55, 200. 00 55, 200
BER (B)
A 2.00 45, 300. 00 90, 600
HEm (C)
A 1.50 35, 600. 00 53, 400
& it E¥BEH - 1.008 147 199, 200. 00 199, 200




Rffik -/ \v7r—o

EE/MASE /LB B XMARERE

=:1
B MEFE 184 74y
2 L R - KT By B E B i %8 5 &
A& (C)
A 2.50 35, 600. 00 89, 000
Hitg
A 3.00 31, 600. 00 94, 800
& R YEEREN 1.00584 T 183, 800. 00 183, 800
=:8
2% . HEER 184 74y
2 [ R - BKTE By H = B i %8 5 &
HEm (A)
A 1.00 55, 200. 00 55, 200
A& (B)
A 15.50 45, 300. 00 702, 150
HEm (C)
A 15. 50 35, 600. 00 551, 800
BT &
A 31.00 31, 600. 00 979, 600
& B E¥EEH 1.002 47 2,288, 750. 00 2,288, 750
&5 :9
2 . BRIHE 1EHY
% L A - kTiE By H = B {f B i &
F T HED BRED)
A 0.50 62, 200. 00 31,100
A (A)
A 0.50 55, 200. 00 217,600
HEm (B)
A 0.50 45, 300. 00 22,650
& &t YEZREH - 1.00[E=] 81, 350. 00 81, 350




REK-FET/ Svr—o BB B B R A ER s

H5:10
ZF : hEHRE 1EHY
4 b LI 2 NS Bf H B B O ® & = 5 &
e TG HY
A 0.50 62, 200. 00 31,100
A (A)
A 0.50 55, 200. 00 27, 600
BER (B)
A 0.50 45, 300. 00 22,650
A it fEZREH - 1.00E= 81, 350. 00 81, 350
BE5: 1
& RBHE HEED)
4 5 R - BRTR AL H B B * ® = 5 &
EXEETHEH))
A 0.50 62, 200. 00 31,100
BER (A)
A 0.50 55, 200. 00 217,600
A (B)
A 0.50 45, 300. 00 22, 650
& &t YEZREH - 1.00[E= 81, 350. 00 81, 350
BE 12
& MEEER IEEL,
4 b LI 2 NS Bf H B B O ® & = 5 &
e TG HY
A 1.00 62, 200. 00 62, 200
A (A)
A 1.50 55, 200. 00 82,800
BER (B)
A 2.00 45, 300. 00 90, 600
HEm (C)
A 2.50 35, 600. 00 89, 000
& it fEZREH 100 324, 600. 00 324, 600




Rffik -/ \v7r—o

EE/MASE /LB B XMARERE

S 13
4 g R - KT By 8 = B i £ 5 &=
F AR GRED
A 1.00 62, 200. 00 62,200
B (A)
A 1.00 55, 200. 00 55, 200
= &t YEEBEH : 1.00 117, 400. 00 117, 400
5:14
2% EBERARE 1XHY
4 g R - KT By 8 = B i £ 5 &=
EHERRE
= 1.00 59, 260. 00 59, 260
& B 1E%EHEH - 1.00K 59, 260. 00 59, 260
HE5: 15
& EBHRR X5
2 Eu A - kTiE By B =2 ] el i &
(ARG E
= 1.00 81, 000. 00 81,000
& H 1E%EHEH - 1.00K 81, 000. 00 81,000
S 16
2 BEIEHWIERAE 1XaY
2 Eu A - kTiE By B =2 ] el i &
BIETERIREREER
I7E 1.00 42, 000. 00 42,000
= &t YEEBEH : 1.00 42,000. 00 42,000




